CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with ¥ icom are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 2 Steno Typist Hindi CET Examn
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 2 Steno Typist Hindi CET Exam
Group Marks: 200

CAT 2 5teno Typist Hindi CET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 260269301 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following battle marked the end of Maratha rule in Haryana region?
Options:

L% Battle of Narnaul, 1780

- » Battle of Gokalgarh, 1798

2 Battle of Laswari, 1803

4 w DBattle of Chhachhrauli, 1818
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Question Number : 1 Question Id : 260269301 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Frafafea 7 & %5 g2 & s1g R0 &7 F AUST ATHA FT AT g ITAT o41?

Options:

|« TAREA T FETE, 1780
, « FwerTg #r w3, 1798
5 » TEANT FT T, 1803

, « Toler $ wETs, 1818

Question Number : 2 Question Id : 260269302 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who ruled over Haryana territory at the time of Ghaznavid invasions?
Options:
, w» DBhatti Rajputs of western Haryana

> % Chauhan Rajputs of Ajmer
- % Jatus Rajputs of Agroha

4  lomar Rajputs of Delhi

Question Number : 2 Question Id : 260269302 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IS &F HFHAUT F THA AT T=F 9T Fgear arEa ar?
Options:

| TS ERAOT & #Er TS

Ly ST & e T

o x FRT ¥ FTH N

i ool & d T T=T9d

Question Number : 3 Question Id : 260269303 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘Which dynasty ruled over Haryana at the time of Timurid invasions?

Options:
|« Khiljis

-  Tlughlags

- w Sayyids

4 % Lodis

Question Number : 3 Question Id : 260269303 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AERE & gHe & SR RO WX R IeEer F AT AT

Options:

1_&5@3&3’

o9 2

B_Qﬂ'ﬂﬁ
4.*%"3‘_"\@r

Question Number : 4 Question Id : 260269304 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following was NOT a Sarkar during Akbar’s rule?

Options:
1 « Ambala

- % Delhi
3 % Hissar

4 % Sarhind

Question Number : 4 Question Id : 260269304 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T aa § § #iF O ovFR, 390 & AT & ST Jar o

Options:
1. & STdTell

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

Question Number : 5 Question Id : 260269305 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the slogan given by Haryvana Chief Minister Manohar Lal Khattar to eradicate casteism?
Options:
, » EkHaryana, Shresth Haryana

-  Haryana Ek, Haryanvi Ek

5 % Sabka Saath, Sabka Vikas

4 % Acche Din Aane Wale Hain

Question Number : 5 Question Id : 260269305 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

sifaeTe #1 §ATa = & o g & gears FaRT o @3 g@ G Ty an #4r 22

Options:

| % Uk g, Ass g
. v BRATUT Teh, gRAUET Th

- x TR WY, Heeh faerH

, » 30 foa e A B

Question Number : 6 Question Id : 260269306 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following was one of the first two districts to adopt the Mahila Police Volunteer Initiative?

Options:
, « Mahendragarh

- % Sonipat
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=z % Kurukshetra

4 % Faridabad

Question Number : 6 Question Id : 260269306 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frrafafea #& @ #ia @ Gor afger gow woad 9ge @1 3ua= aer 9ge o &6 # & o 91

Options:

1.+ ”éaa ¢
o ® BT

Question Number : 7 Question Id : 260269307 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Indian women’s hockey team, led by Ritu Rani from Haryana. became the first women’s hockey team from India to
qualify for the Olympics after a gap of years.

Options:
1 & 6

> % 16

Question Number : 7 Question Id : 260269307 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ghamoT % Rg T & Agee e AaRd Ager g aF, I¥ F AT F 9 AHeE F B
FEATAIRIS Slel aTell AT #T Igelr Afgel glehr &1F g S|

Options:

1 ® 5

o B 16

T B 28

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

4 v 36

Question Number : 8 Question Id : 260269308 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana was the state in the country to allow the revision of pension and family pension as per

70 Pay Commission.
Options:

1 ¥ IE‘t

- R End

3 ® 31

4 % 4

Question Number : 8 Question Id : 260269308 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

7 F 399 HERT & HJER AT T, Jo AR wiREie Sore F weiue $ wgRfa & arer &
= o)
Options:

1, ¢ J6ell
2.*‘%"3{‘]:lTr
- % ar|Eq

4.3‘3#'1”

Question Number : 9 Question Id : 260269309 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the author of the children’s literature book ‘Papa Mammi Par Mukadama'?
Options:
1 % Vishwabandhu Sharma

-  Ghamandi Lal Aggarwal

= % Liladhar Dukhi

4 % Kamla Chamola
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Question Number : 9 Question Id : 260269309 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

mmﬁm‘wﬁqﬂm’xmaﬂﬁﬁ?

Options:

Rregerer orAT
1. ® a3

-  THST & HIaTeT

Sl o

4 % SHEET TAE

Question Number : 10 Question Id : 260269310 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following is the author of the novel *Sindhu Putra’?

Options:
1+« Amrit Lal Madaan

> % Deepchand Nirmohi
= % Kumar Ravindra

4 % Rakesh Vatsa

Question Number : 10 Question Id : 260269310 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3v=arH iy 99 & ogs Aeatatad J ¥ FiT g7
Options:

| » FEA W A
o W mﬁ-ﬂ%
TAN g

3 ®

E TI?\FQI'EIFH

Question Number : 11 Question Id : 260269311 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The novel ‘Nardansh’ is written by:
Options:
, w Indira Swapna

> % Pawan Chaudhari
= « Rakesh Vatsa

4 % Madhukant

Question Number : 11 Question Id : 260269311 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FAIE ATHF SIATH Seaied [oET &
Options:

1 % WW
- B qﬂ?l'ﬁﬂ'ﬂ'

SJWFEF‘H

Question Number : 12 Question Id : 260269312 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which river separates the present boundary of Haryana from Uttar Pradesh?
Options:

1« Yamuna

- % Ghaggar

- w langri

4 % Markanda

Question Number : 12 Question Id : 260269312 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FiT O A2 RTOT F FTIAT THT FT 3ca] TSN T T F:AT 27

Options:
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o R ISECIEy
- w JTEIT
E HTT:{IET

Question Number : 13 Question Id : 260269313 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is the new police district of Haryana?

Options:
, % Mahendragarh

- % Kaithal
3 « Hansi

Question Number : 13 Question Id : 260269313 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fFeafafea 7 @ #Ha @ ghanr & Far gfow Ser g

Options:

1;39:!%?\_‘”3'
glﬁm
S.Jm

4%#

Question Number : 14 Question Id : 260269314 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many police ranges are there in Haryana?

Options:
1 ® Four

> « Five
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3 ® Six

4 % BSeven

Question Number : 14 Question Id : 260269314 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRaoT F Far et g AT
Options:
% =T

2.;-'":“?
3_%3%.

4_%37\:”?[

Question Number : 15 Question Id : 260269315 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the Haryana Legislative Assembly (Vidhan Sabha) Elections 2014, Congress ML A Jai Tirath defeated the Indian
National Lok Dal’s (INLD) candidate Inderjeet by just votes.

Options:
1.¢ 3

2_%5

Question Number : 15 Question Id : 260269315 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g faurs wem g 2014 # FRW F AU 9 IRy F 3399 Sved & g (INLD) % 3Figan
SIS T e o W AT o

Options:
1« 3

2_%5
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Question Number : 16 Question Id : 260269316 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In 2006, the Haryana State Board of Technical Education had accepted the recommendations of a committee headed by
Navin Jindal for improvement of the standard of education in Haryana.

Options:

, w Primary

> u Higher
= Polytechnic

, % Secondary

Question Number : 16 Question Id : 260269316 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2006 #, fyImoT T=T T fBeT 9 & gfaor # fareT & A=t A FUR F BT
Tt S @y sregetar aren @AY & Bwiet & =er w5t B

Options:

. % 9rafAs

> % 3==dH
A CEEGED

4 ®% ATETHE

Question Number : 17 Question Id : 260269317 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In all, there are panchayat samitis in Harvana.
Options:

1 % 110

> % 115

3 « 119

4 % 123

Question Number : 17 Question Id : 260269317 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3
Fol ATy giamor & garad wfAf 2
Options:

L% 110
, 115
s« 119

4 % 123

Question Number : 18 Question Id : 260269318 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Government of Haryana had constituted a Pay Anomalies Commission for the removal of pay anomalies and
deviations which was headed by:

Options:

= Vivek Padam Singh

> « G. Madhavan
= % 5. P Verma

4 % Daljit Singh

Question Number : 18 Question Id : 260269318 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ERATOT TIHR & 304 FEefadt 3R 3R F ToH 7 & v 304 @FEafa 3mae & 7ea &Far o
THS! eTeTar e @ ofr?

Options:

, » T TEn RE
5 FAT ATIEST

g #® mﬂﬁ?

Question Number : 19 Question Id : 260269319 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The geological formation of Haryana can be categorised into three of the following geological systems.
Find the odd one out.
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Options:

, « Chota Nagpur plateau

- u Aravalli System
5 % Shivalik Range

, % Indo-Gangetic Alluvial Plains

Question Number : 19 Question Id : 260269319 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g & sty Tem w MefeiaT siifes gonfedt # § 99 # e B gwar 71 = @
FEIT Hr Tg=H FL
Options:

1. 2

o % 3R gEaATT

.« REfw =

o Rt & s

Question Number : 20 Question Id : 260269320 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

city is famous in India by the name of ‘City of Weavers’.
Options:

, « Panipat

> R Jind
= % Bhiwani

4 % Palwal

Question Number : 20 Question Id : 260269320 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T ARG H TR & AW F AH F FAE g

Options:
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4 #% Heldel

Question Number : 21 Question Id : 260269321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per India State of Forest Report 2015, approximately of Haryana’s geographical area is under forest cover.
Options:
, v 1.584 sq.km

o % 2.224 sq.km

s % 1.288 sq.km

4 % 3.357 sq.km

Question Number : 21 Question Id : 260269321 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

RS T 9 e 2015 & 3g@n, gRAoT & silnfos &7 &1 sereeEr IT aT H F
Options:

.« 1,584 7 foRaeR
o % 2,224 T faeR
. » 7,288 T et

., % 3,357 T R

Question Number : 22 Question Id : 260269322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The JThumar Dance is also known as:
Options:
, w» Haryanvi Saang
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-  Haryanvi Gidda
5 % Daph

, % Chaupia

Question Number : 22 Question Id : 260269322 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SER T # A A\ F off S A 87

Options:

1 % Eﬁ'&TU'HT?H'I?T

S_QET':H

4_w€l’fﬁ'&T

Question Number : 23 Question Id : 260269323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to legend, whose mundan (head tonsuring) ceremony was performed at the Bhadrakali Temple of Kurukshetra?
Options:
1 + Shri Krishna and Balaram

- % Arjuna and Yudhishthira

=z #% Shri Ram and Lakshman

, % DBharat and Shatrughna

Question Number : 23 Question Id : 260269323 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SO Fumatt & AR, FIET F e Al # Fue J2a (WX g4 1 sngeee fear mar ar?
Options:

I_Jaﬁmaﬂrm
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- A 3R A

Question Number : 24 Question Id : 260269324 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following is known to be the architect of modern Kurukshetra?
Options:
, = Dr. Sarup Singh

> % Ranbir Singh Hooda
- % Nihal Singh Takshak

4 « Gulzarilal Nanda

Question Number : 24 Question Id : 260269324 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frfof@a & @ e smyfes T & g 7 S1ar 82

Options:
|« SI. "9 f8E

2 % Wﬁ?@

.« e R

i L
g
. ‘:I'f'-ia:'IIHMI(-i =

Question Number : 25 Question Id : 260269325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following is considered one of the 51 Shakti Pithas of India?

Options:
, w Prachi Shiva Temple in Kurukshetra

» % Kartikeya Temple in Pehowa

-  DBhadrakali Temple in Kurukshetra
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4 % Brahm Sarovar in Kurukshetra

Question Number : 25 Question Id : 260269325 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TaRfaT 7 ¥ s 9g & 51 afeg 98T # ¥ T AT A0 872

Options:

P Wﬁmﬁmm

, % TR # FiawT #feT
Slwﬁwﬁ?ﬁsﬁmﬁrﬁﬁ'{

e FTET H FeH TN

Question Number : 26 Question Id : 260269326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m#mwﬁ%ﬂﬁi—ﬂmﬁﬁaﬁqm

Options:
1. % HIED

2_&%

Question Number : 26 Question Id : 260269326 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT % HIEN 56 RrEa Q—J—H'ﬁ'ﬁf&mﬂ FaTT?

Options:

13,3?411‘35

g_ﬁm
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3 v E“

4_3’3@

Question Number : 27 Question Id : 260269327 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TRl T 2ee-=IEd 9=

A T
B A
& it
s R ) ]
Options:
1 & A
>« B
T W C
E D

Question Number : 27 Question Id : 260269327 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Tegle T ee-TTEd 9ga:

. S
B ____..5__
A
3 R ¥
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Options:

1_%;&

>v B

4 % D

Question Number : 28 Question Id : 260269328 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s oee-TEa & T T
Options:

1% ar

o B #l?'r

3_23?11-\"

4 ¢ T

Question Number : 28 Question Id : 260269328 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SH oec-TEa & 9g=9=
Options:

1 ® aﬁ'

o ® ﬁ'l?l‘

o W =

4. ¢ T

Question Number : 29 Question Id : 260269329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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‘T FT AeS-TRIET T

Options:

1_%A

Question Number : 29 Question Id : 260269329 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TE H UAeS-REA IE=:

Options:

1_%A

Question Number : 30 Question Id : 260269330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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—_—
5 ree-fUed 1 "gae ——
Options:

1 o o

> #% Y
z ® Hedd

4.23-3']%_{

Question Number : 30 Question Id : 260269330 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

—
sH ree-FEa & TgEe ——
Options:

1 o ol

> % HQT
i o El

4_&33‘]@

Question Number : 31 Question Id : 260269331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fergrae &1 Wer oree-faes sam:

C. o S 5 [
i _____ i S st |
D.
Options:
1 ® A

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

Question Number : 31 Question Id : 260269331 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options:

I_RA

E_WB

Question Number : 32 Question Id : 260269332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

sH ree-TTEa & T E\’“
Options:

1 ® m

) ® ml_'r

E_Waﬁ:{:q?r
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4 v FIE-JOE

Question Number : 32 Question Id : 260269332 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

sH oree-TTEs & T i\’“
Options:

& 299

) ® ml_'r

2 R Eﬁ-‘ﬁ‘:':l?-l'

v AT

Question Number : 33 Question Id : 260269333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘ST T T Aee-Te Igare:

Options:

1 & A
o« B
= W &

4 % D

Question Number : 33 Question Id : 260269333 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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TATIY & T Uee-TRET Tgan:

Options:

1.WA
> « B
3z % C

4 % D

Question Number : 34 Question Id : 260269334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gt fATAgER o Geft s anfe & &1 wEr T vgae:

Options:
1« A
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Question Number : 34 Question Id : 260269334 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gﬁﬁlﬂm@w%@ ‘Tt OO F1fE & &7 Her e 9g=:

A.

D- —"‘"""‘"%-—-:“.“:‘---——-—uu—_.

Options:

Question Number : 35 Question Id : 260269335 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HAATH % FAR 36 EE-e & T TR

Options:

1_%,?%@—-—@#
o w Teheglel
E.Wﬁ’mﬁ

4_&1%’;'-@-

Question Number : 35 Question Id : 260269335 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIATH & HJHN SH Aee-faea i T8~
Options:
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o TR
o w fehegler
glﬁﬁ’mﬁ

4_$$ﬁ’m-'g-

Question Number : 36 Question Id : 260269336 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TadATH & HFAR ‘TAH FT Har UeS-HEd IgH:

A. SN

D. o
Options:

I_RA

>« B

4 % D

Question Number : 36 Question Id : 260269336 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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TadTH & HFAR ‘TAH FT Har Uee-FEd Jg=:

A SN

D. vf

Options:

1_%A

>« B

4 % D

Question Number : 37 Question Id : 260269337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TFET & el Aee-Ed 9
A 7

B.

% Al

D. s

Options:
1 ¢ A

2.%5
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4 % D

Question Number : 37 Question Id : 260269337 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TEAT T Tl MeS-TUEd T
A

B 7

% Al

D. s

Options:
1. ¢ A

Question Number : 38 Question Id : 260269338 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

GEAE F UAeE-FET F HFARN TEA:

Y

¥
N N
D. “ﬁ ot PR

Options:
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Question Number : 38 Question Id : 260269338 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YL FI eG-TET & HFJARX Tg:

o

i
)
D. % LY I

Options:
1. ¢ A

Question Number : 39 Question Id : 260269339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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AT F HFHAR S=-I3ATel Tl

A r-—--"""_'_ —-
B. "_..---""' e
4

& = . -

D. —
Options:
1 *® A
o W B
T W C
4 v D

Question Number : 39 Question Id : 260269339 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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AT F HFHAR S=-I3ATel Tl

C. s et o

D. —

Options:

1 % A
2_%5

3_%':

4 v D

Question Number : 40 Question Id : 260269340 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T F AT # F O & HTER HEFT F Aee-FHed w7 g

—

D ,.__._,_,__._-b{-\-\—*""‘"' X

Options:
1.« A

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

Question Number : 40 Question Id : 260269340 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST F AT FA F [HIH F HTAR HSF F Teg-Tea F g

Question Number : 41 Question Id : 260269341 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 41 Question Id : 260269341 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
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Question Number : 42 Question Id : 260269342 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬁmam%ﬁﬁw‘%ﬁrmﬁﬁmmmﬁmmﬁmgmm

Options:
| % e 1932
, « T 1949

, o T 1938

, » W 1935

Question Number : 42 Question Id : 260269342 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

%y gomel ofer ffr Fr qraw R v B 1 yuw g B a7 g gam ar?

Options:
| » W 1932
, x T 1949

. » W 1938

, » W 1935

Question Number : 43 Question Id : 260269343 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i gomelr fedr ofr Y 1 BFw W & o TR F aic-gvs vE armeEf T FAE 7 Frgd
8T HIeaaT Fere @I ofr?

Options:
| % W 1954
, » T 1948
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L« W 1952

, » W 1955

Question Number : 43 Question Id : 260269343 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i gomelr fedr ofr Y 1 BFw W & o TR F aic-gvs vE armeEf T FAE 7 Frgd
8T FIeaal Sere I or?

Options:

|« & 1954
, » T 1948
.« T 1952

, & @ 1955

Question Number : 44 Question Id : 260269344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IMc-gus F Tgeir Tha Iy 3k I & 3emar 5w 77 ¥ F&r Far 87

Options:

, = Zepur Al

> = g @
5« 394rT ol

4 v @

Question Number : 44 Question Id : 260269344 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AMc-gus F Tgear Thg Y 3k faof™ & emar 5w a7 ¥ F&=r Jar 87
Options:

, = Zepur Al

o = g

5w 3991 ol
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4 v &0 o

Question Number : 45 Question Id : 260269345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fret ar 37T Sonfert & AR HW sEETe o Rear T oy @ dfser fear ar?

Options:

1 ® ﬁ_{ﬂﬁ-w

. » T #F-Z¢

T §'-c»i|uu-1-3}?r

L
Rreda-Toe =carad
4 o s =

Question Number : 45 Question Id : 260269345 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

foret a1 3T JonTordT & 3TER % 39ETe o fGedr Toa ol &1 sfrser frar ar?

Options:

1 ® ﬁ_{ﬂﬂ-w
> » T HA-Z¢

i Tl ool

S
freda-rae soaraa
4 LR

Question Number : 46 Question Id : 260269346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suifable articles. Choose vour answer from the options given:

Rescuers are racing against clock to reach survivors trapped under rubble of school in

Mexico City which collapsed during Tuesday's earthquake.

Options:
1w the, the. a
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> % 8,82
5 % the, a. the

4 8 a. a. the

Question Number : 46 Question Id : 260269346 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer from the options given:

Rescuers are racing against clock to reach survivors trapped under rubble of school in
Mexico City which collapsed during Tuesday's earthquake.

Options:

1w the, the. a

> % 8,82
5 % the, a. the

4 % a. a. the

Question Number : 47 Question Id : 260269347 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer firom the options given:

satellite Vanguard 1 continues to help scientists understand influence of

Long term tracking of
Earth’s atmosphere on satellites and how orbits decay over time.

Options:
1w the, the, the,

5 % & the, the
5 % the, the an

4 % the , an. the

Question Number : 47 Question Id : 260269347 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Choose vour answer fiom the options given:

Long term tracking of satellite Vanguard 1 continues to help scientists understand influence of
Earth’s atmosphere on satellites and how orbits decay over time.

Options:
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1 « the, the, the,
> % 8 the, the
5 % the, the, an

4 8 the , an, the

Question Number : 48 Question Id : 260269348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Choose your answer from the options given:

With the possibility that lives _ still be saved, rescuers were battling to save any souls left beneath the rubble.
Options:
1 % should

> % shall
z o can

4 % will

Question Number : 48 Question Id : 260269348 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Choose vour answer from the options given:

With the possibility that lives  still be saved, rescuers were battling to save any souls left beneath the rubble.
Options:
1 % should

> % shall
3 o can

4 % will

Question Number : 49 Question Id : 260269349 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below. The nouns in the sentence are highlighted. From the options given, choose the fyvpe of

nouns each highlighted word is:

Courage is resistance to fear, mastery of fear, not absence of fear. (Mark Twain)
Options:
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% collective noun, abstract noun

» % COMINon noun, collective noun

3 % Proper noun, comumnon noun

4 « abstract noun, abstract noun

Question Number : 49 Question Id : 260269349 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below. The nouns in the sentence are highlighted. From the options given, choose the tyvpe of

nouns each highlighted word is:

Courage is resistance to fear, mastery of fear. not absence of fear. (Mark Twain)
Options:
L % collective noun, abstract noun

> % COMINON Noun, collective noun

3 % Proper nou., co1rumnoi noun

4 « abstract noun, abstract noun

Question Number : 50 Question Id : 260269350 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an error. Choose the option that
has the error:

Options:
1 + animals who live close to the surface and want to hide

-~ % canproduce dazzling displays of light in a process known as

- » bioluminescence, confusing predators below who think they are looking at

4, % dappled sunshine hitting the water’s surface

Question Number : 50 Question Id : 260269350 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an error. Choose the option that
has the error:

Options:
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1 + animals who live close to the surface and want to hide
- % canproduce dazzling displays of light in a process known as
- % bioluminescence, confusing predators below who think they are looking at

4, % dappled sunshine hitting the water’s surface

Question Number : 51 Question Id : 260269351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given, choose the one that replaces the sentence below correctly:

It was raining. That’s the only reason I didn’t take the children to the park.
Options:
, « Ifithadn’t been raining. I would have taken the children to the park.

- % Ifithadn’t been raining, I will have taken the children to the park.
- » Ifit hadn’t been rain, I would have taken the children to the park

4 % Ifithadn’t been raining, I should have taken the children to the park.

Question Number : 51 Question Id : 260269351 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given, choose the one that replaces the sentence below correctly:

It was raining. That’s the only reason I didn’t take the children to the park.
Options:
, « Ifithadn’t been raining, I would have taken the children to the park.

> % Ifithadn’t been raining. I will have taken the children to the park.

- % Ifithadn’t been rain, I would have taken the children to the park

, % Ifithadn’t been raining, I should have taken the children to the park.

Question Number : 52 Question Id : 260269352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the aption that affers the correct synonym of the highlighted ward in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence.

Conjoined twins are extremely rare in wild animals.
Options:
, » Couple

- % Separated

= # Sewn

4 « Attached

Question Number : 52 Question Id : 260269352 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct synonym of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence.

Conjoined twins are extremely rare in wild animals.
Options:
, » Couple

> % Separated

= % Sewn

4 « Attached

Question Number : 53 Question Id : 260269353 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay aitention to the
meaning of the highlighted word in context of the sentence.

Any effort can easily lead to overheating, so to combat the high temperatures, the penguins stretch out on their stomachs so
their feet can cool off in the breeze.

Options:
1 #® encounter

> o calm
- u affray

4 % Deace
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Question Number : 53 Question Id : 260269353 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in context of the sentence.

Any effort can easily lead to overheating, so to combat the high temperatures, the penguins stretch out on their stomachs so
their feet can cool off in the breeze.

Options:
| # encounter
- o calm

5 x affray

4 % Deace

Question Number : 54 Question Id : 260269354 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose from the options given below the one that employs an appropridate tag question:

I hope there aren't any spiders in the bedroom,
Options:

1 « are there?

> % were there?

3 % is there?

4 % aren’t there?

Question Number : 54 Question Id : 260269354 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose from the options given below the one that employs an appropriate tag question:

I hope there aren't any spiders in the bedroom,
Options:

1 « are there?

> % were there?

3 % is there?

4 % aren’t there?
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Question Number : 55 Question Id : 260269355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that has the prepositions placed correctly to form a proper sentence:
Options:

1%

Baby penguins. on their downy winter coats, are in an even greater risk of overheating. Those too young to swim in
open water find welcome relief with a quick splash-around in a small river or with a trip to the penguin spa. complete
with penguin 'mud packs'.

o B

Chicks, in their downy winter coats, are in an even greater risk of overheating. Those too young to swim on open water
find welcome relief with a quick splash-around in a small river or with a trip to the penguin spa. complete with penguin
'mud packs’”.

= g

Chicks, in their downy winter coats, are at an even greater risk of overheating. Those too young to swim in open water
find welcome relief with a quick splash-around in a small river or with a trip to the penguin spa. complete with penguin
'mud packs’.

4 B

Chicks, in their downy winter coats, are at an even greater risk of overheating. Those too young to swim in open water
find welcome relief from a quick-splash around on a small river or with a trip to the penguin spa. complete with penguin
'mud packs'.

Question Number : 55 Question Id : 260269355 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below, choose the one that has the prepositions placed correctly to form a proper sentence:
Options:

1%

Baby penguins. on their downy winter coats, are in an even greater risk of overheating. Those too young to swim in
open water find welcome relief with a quick splash-around in a small river or with a trip to the penguin spa. complete
with penguin 'mud packs'.

o %

Chicks, in their downy winter coats, are in an even greater risk of overheating. Those too young to swim on open water
find welcome relief with a quick splash-around in a small river or with a trip to the penguin spa. complete with penguin
'mud packs’.

S &

Chicks. in their downy winter coats, are at an even greater risk of overheating. Those too young to swim in open water
find welcome relief with a quick splash-around in a small river or with a trip to the penguin spa, complete with penguin
'mud packs’.

4 #

Chicks, in their downy winter coats. are at an even greater risk of overheating. Those too young to swim in open water
find welcome relief from a quick-splash around on a small river or with a trip to the penguin spa. complete with penguin
'mud packs'.
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Question Number : 56 Question Id : 260269356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TqTeT 9eg, §T g

Options:
| v &+ 3T
3 & 'l vy

T e + HI*d

4 4 CII I_L+H

Question Number : 56 Question Id : 260269356 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘e’ 9eE, §T B

Options:
| v T+ 3T
o % el +5d

2 R e + HI*d

4 E4 CEI I_L+H

Question Number : 57 Question Id : 260269357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

UA-AY g F THT
Options:

|y IR

Question Number : 57 Question Id : 260269357 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

UA-AEY 9T H FATE &

Options:
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Question Number : 58 Question Id : 260269358 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST A FS 3T 7 g T & v v aeg @

Options:
1. v Heded

. w HEHT

Question Number : 58 Question Id : 260269358 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TS0s TAT HS T 7 & I & O v aeg gem

Options:
1, 3leied

L w HEHT

Question Number : 59 Question Id : 260269359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘ASOl & TATTaT=T 78T ¢

Options:
1, % HPY
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g_ﬁm

4_%3%

Question Number : 59 Question Id : 260269359 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘Ao & JIIa=T Jaf &

Options:

1.*33:‘“

S Ho
5 HTET

4_-%3311?{

Question Number : 60 Question Id : 260269360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fFefof@a & @ Fia-¥ weg 7 a0 YL 872

Options:

Question Number : 60 Question Id : 260269360 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fFafof@a & @ a8 =g & a0+ 3E 82

Options:
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Question Number : 61 Question Id : 260269361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AfEF oreg &1 TEH &
Options:

. w STk
. v TTad
E_QW

4 % =T

Question Number : 61 Question Id : 260269361 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FEF e FT TAF &

Options:

, % I
. v g
3_@331?1211'

4 ®% dr=lel

Question Number : 62 Question Id : 260269362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T # @ #ia-ar o= gm7 72
Options:

1_%&@@

2_%.3 @T
g & HIel
4 el
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Question Number : 62 Question Id : 260269362 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T & 9 Fia-3r o g5 7 2
Options:

l_um

2_%&@?
S_QW

4 & Teal

Question Number : 63 Question Id : 260269363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

B 7T F U 3UPFT HgET &

Options:

L » el STEIAHT AT Fell

.« TEHT ST I & Al I
_ « GF W HLE

4_Jag.rmrq.rq1ﬁrmrm?ﬁm

Question Number : 63 Question Id : 260269363 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Brer 7arr & v FugEFa HerEw B

Options:

i et FETHT 9t wer

o « TEHT S TS o FAer AT
.« @ Tg HET

, v OF FT G T FT A ST
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Question Number : 64 Question Id : 260269364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T & ¥ Fla-ar o= 959 &7

Options:

1 & 2

2_%&%

4 ® 2

Question Number : 64 Question Id : 260269364 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T & @ #i9-ar o 959 &2

Options:

1 &8 2

2_&3%

Question Number : 65 Question Id : 260269365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T AT Y AL &
Options:

1_&'@]’%
o % ST
5w A
4 v HTHEOT

Question Number : 65 Question Id : 260269365 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T[E AT F HY AG @
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Options:

| = TETe

E_QEE‘T
3.335-'!1'-&
4 v HTFRSOT

Question Number : 66 Question Id : 260269366 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the product of two numbers is 3,026 and their LCM is 89, then their HCF is:
Options:

1 & 39

o W 33

T W 29

4.« 34

Question Number : 66 Question Id : 260269366 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ar FEAHT F UG 3,026 B, TUT FAeaH FATIEH 89 ¥ A 3 HgcaH FAMIAGH AT AT

Options:

1 ® 39
o B 33
= B 29

4 v 34

Question Number : 67 Question Id : 260269367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bus travels from A to B at the speed of 45 kmph and returns in the same route from B to A at 50 kmph. The average
speed of the bus during the entire journey is:(round to one decimal):

Options:
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. % 47.5 kmph
»  47.4 kmph
- % 47.3 kmph

, % 47.2kmph

Question Number : 67 Question Id : 260269367 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TH TH A W B TF gl 45 ThaAEeyme T AT A AT AT g AN SH TET H B & A WX 50
foreiaiey/ge & I ¥ I9F AT F1AT g1 T T F SR a7 H AFT TN AG A0 (GAHAT F
ﬁﬁﬁﬁ?ﬁﬁ%%g’ﬁi)

Options:

. % 47.5 TreEey/Eer
5« 47.4 TreHey/Eer
- = 47.3 fresey/Eer
4 % 47.2 TreEey/Eer

Question Number : 68 Question Id : 260269368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

11,730 and ¥ 10,200 are the compound and simple interest for a certain sum for 2 years with rate of interest being the
same for both calculated per annum. The sum is:

Options:
. v T17.000

., % T 18,000
2 » 317,500

4 % T17,750

Question Number : 68 Question Id : 260269368 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 11,730 3T T 10,200 vs A¥ad aafer ¥ 2 a9 H Us A 18 =TI $7 T 9T 9d &l arel
THge T HR BURCT SO g1 FF g E:
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Options:

. » % 17,000
, » % 18,000
. » % 17,500

n % 17,750

Question Number : 69 Question Id : 260269369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X, Y, Z are three numbers such that X and Y are 20% and 25% more than Z respectively. Then X is what percentage of Y?

Options:
L ® 99%

> % 94%
5  96%

4 % 95%

Question Number : 69 Question Id : 260269369 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

X, Y, Z 33T =0 57 9K 2, TF X 3R Y, Z & Fmer 20% 3T 25% 3fees g1 X, Y #1 g
gfaera 27

Options:

% 99%

-, % 94%
2 v 96%

L % 95%

Question Number : 70 Question Id : 260269370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If two roots of the equation ax® + by + ¢ =0 are equal, then ¢ =

Options:
b?
1.« 4a
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4a
4 ® bE

Question Number : 70 Question Id : 260269370 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IfE THEROTax’ ~bx +c=0F a1 FF s &, df ¢ =
Options:

b?
| v 4a

_52

> % 4da

az

g_wa

4a
4 % b

Question Number : 71 Question Id : 260269371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A telephone call for 6 minutes costs ¥ 32, What is the cost in rupees for the call of duration 4 minutes? (round to one
decimal value)
Options:

1 #® 214

. ]

o R 21:

Laa

o o 217

-2

4 #® 21.

Question Number : 71 Question Id : 260269371 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

6 e & T wF oI Fa & 757 32 T gl 4 BT & Fd & JqoF 99 F #7182
(T e TAA & OTha )

Options:

L % 214
, % 215
o 213

4 % 21.2

Question Number : 72 Question Id : 260269372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Mr. Kiran travels equal distance with the speed of 10 kmph, 30 kmph and 8 kmph respectively. He takes a total time of
15.5 minutes. The total distance travelled is:

Options:
1 % 2.5km

> « 3km
z % 3.5km

4 % 4km

Question Number : 72 Question Id : 260269372 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

S e Je ST gt #r wEen 10 fredey/ae, 30 fraseyoe it 8 frameyae # e ¥ a9
FIAT ¢ 3R ag 15.5 e F1 T A W g al 3HS AR g @I TAN FA G 8

Options:

, = 2.5 frarereT
. 3 freieT
- » 3.5 feeraET
4 » 4 ToenaAET

Question Number : 73 Question Id : 260269373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A shop owner marks the prices of his goods at 20% higher than the cost price. Later, while selling the goods, a discount of
20196 is given on the marked price. The loss/gain to the owner is:
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Options:
1 « 4% loss

> % 4% gain

= % 2% loss

Question Number : 73 Question Id : 260269373 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T GHER TEGIT W HT AT ¥ 20% 3% Fow Hfha & W g1 g & a7 Afea
AT T 20% FT TT FHT TEGHT & AT g1 GHEAR H SN/ &

Options:

| v 4% gifer

o ow 4%F|T3=|'
. % 2% @i

g4 ® 2% Ik

Question Number : 74 Question Id : 260269374 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A jar contains whisky with the alcohol proportion of 30%. A part of this whisky is replaced by another brand that contains
alcohol in the proportion of 19%. Now the percentage of alcohol is 26% in the whisky. The quantity of whisky replaced is:

Options:
1 #® 4/7

5 & 4/11
3_ E -"r.l'll].-i

4 & 3/7

Question Number : 74 Question Id : 260269374 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T IR A Rewhr § OEH aewgd @ aeaa 30% ¢ 5§ e 7 O @ AT #F oF 3 95 W
seor 4T San & e aewiEe @ A 19% ¢ 3 el # sewigd 1 3G 26% g ST gl
ST AT fFEEh & 7 g

Options:
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L% 47
o o 411
s % 7/11

o % 307

Question Number : 75 Question Id : 260269375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The marked price of a bicycle is ¥ 1,824. A shopkeeper allows a discount of 14% and gets a profit of 14%. Find the cost
price of the bicycle.

Options:
;. & 850

> % X 1.000
3 % X900

5 TLAT6

Question Number : 75 Question Id : 260269375 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Us HIEfhe #1 JHfoha #Ea T 1,824 B| TEER $H Ifhd Hpd W 14% T T 14% o187 Hoid adam
2 wsfahe &1 F0 7ET 79 AifEw

Options:

% T 850

, » ¥ 1,000

2 % ¥ 900

L 1,376

Question Number : 76 Question Id : 260269376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A piece of brick is suspended in air by a spring balance. The reading of the balance is 0.14 kg. When the piece is
submerged in water, the scale reads 0.04 kg. The density of the brick is:

Options:
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; % L1IX 10° kgm_3
12X 103 kg m™>

v 14X 103 kgm™

—

4 % 16X 10° kg m™

Question Number : 76 Question Id : 260269376 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST & TF gHel g9 H FAGGR Jol ¥ wca g3 gl g F Traares 0.14 fareinns &1 59 37 I35
qreAr H FET & Al gelr H qraaies 0.04 A G@ar g1 & &1 uded e
Options:

. % 1.1x 103 freiems #Hex S

., x 1.2 103 frarm Hex 3

. v 1.4x 10 3 freame o3

4 % 1.6X 103 TFeiemeT FHexr 3

Question Number : 77 Question Id : 260269377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is thrown vertically upwards with a velocity of 60 m/s. The distance travelled by it in the fourth second is:
( take g=10 m/s? )

Options:

1 % 15m

o o 25m

Question Number : 77 Question Id : 260269377 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

U FFJ 60 HEUFFT F I W e FW H AR Fhr A1 g1 Y A F 5UF @0 a7 H; R
AU
(g =10 HeydeFs2)
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Options:

Question Number : 78 Question Id : 260269378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed in front of a concave mirror at a point between its pole and focus. The image formed by the mirror is:
Options:
1 % Real and of the same size

- % Real and diminished

5  virtual and enlarged

4 % Virtual and diminished

Question Number : 78 Question Id : 260269378 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FS IEG A GIUT F AN 38 YT H BIFE & AT U §g W W 78 §| gI0T g@RT a=Arar 4w
gfafae gem:
Options:

| » arEdfes AR TAA HER H

e aEdfas AR FHiEd
o TSTET 3R T HER FHT

fiea HTATHT 3R T

Question Number : 79 Question Id : 260269379 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a ray of light passes from water to air, it bends:
Options:
, » Away from the normal and slows down
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o  Away from the normal and speeds up

= % Towards the normal and slows down

4 % Towards the normal and speeds up

Question Number : 79 Question Id : 260269379 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YerTel @1 Teh fHT0T 9l @ gar H ST § S & ¥g 9 ¥ OgEr H I § 98

Options:

AT (FHeFS) & gT S AT & T 0 & e g

1 %

AT (FfFe) & g {3 S g g9 & F & S §

2 o

AT (FfFeFs) F AT F3 1A g Fur oI g S

3 ®

TAT (FfFeTs) Fr AT {3 1A g T i @ FE g

4 ®

Question Number : 80 Question Id : 260269380 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object is placed in front of a convex mirror of focal length 24 cm. The image formed is at a distance of 14.4 cm.
Following Cartesian sign convention, the object distance, u and the magnification, m are expressed respectively as:

Options:
1 % —18 cm. —0.8

5 R 18 cm. 0.8
2 R 36cm. —04

4 v —36cm, 0.4

Question Number : 80 Question Id : 260269380 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T TEG 24 VI BIFe FFETS & UF Scad gUUT F WA T S ¢ gl 14.4 FeeT #r gl
W AT g1 FIEFHAA Foha T §, I&8g ¥ g1 v AN =T m FAE g g FeEn

Options:

| x —18 HaAER, -0.8
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., » 18 ¥R, 0.8
. » 36 WIHARR, -0.4

., v —36 WY, 0.4

Question Number : 81 Question Id : 260269381 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following compounds is NOT soluble in water?

Options:

> % NaCl

. % NaNO;

., % NE4CI

Question Number : 81 Question Id : 260269381 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ﬁmﬁﬁﬂﬁﬁ#mﬂﬁmmﬁm_ frer 8T 872

Options:

;v CHy
, % NaCl
. % NaNOj3

. » NH4CI

Question Number : 82 Question Id : 260269382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which compound among the following has carbon-carbon triple bond?

Options:
. » CHy

5 o G2

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

- » CoHg

4 % CoHy

Question Number : 82 Question Id : 260269382 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

foforaa & ¥ &y it & srea-sea Bey gar &2
Options:

> CoH2
- » CoHg

4 » CoHy

Question Number : 83 Question Id : 260269383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following represents the mass of one mole of magnesium atoms?

Options:
1 % (.24 gram

5 % 2.4 gram
3 24 gram

4 % 12 gram

Question Number : 83 Question Id : 260269383 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fFrafafea 7 @ #la @1 Reer AelRmA AW F vF A F1 FegAa gear g?

Options:
| % 0.24 TH

o> R 2.4 TAH

4 8 12 a7
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Question Number : 84 Question Id : 260269384 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following chemical formula is used to represent the functional group amide?

Options:
, « “CONH)

o w 'Z\HE
z R -OH

g -CN

Question Number : 84 Question Id : 260269384 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Talaf@a & 9 #i7 @ TaEs @7 vaAEs & Bueas Aeg # g g7

Options:

|« “CONH>
> » -NH2
- & -OH
4 % -CN

Question Number : 85 Question Id : 260269385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the organic compound produced when an alcohol is treated with carboxylic acid?

Options:
1 % Amine

~ % Ether
= « Ester

4 % Cyanide

Question Number : 85 Question Id : 260269385 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Helgel P FEFHOR I & TY JVFT == W FiT AT Fafas A a0 22

Options:
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1_%3@?

> 8 ¥

, « WSS

Question Number : 86 Question Id : 260269386 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is Mrinalini Sarabhai famous for?
Options:

, « Bharatnatyam

> % Kuchipudi

5 % Mohiniyattam

4 % Kathakali

Question Number : 86 Question Id : 260269386 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ol T few e g 2

Options:

| v FEAETH

o B ;i %5“3'@_9'

4 % THUFC

Question Number : 87 Question Id : 260269387 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which year was Mahatma Gandhi assassinated?

Options:
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1 B 1947
5> « 1948
5 % 1949

4 % 1950

Question Number : 87 Question Id : 260269387 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HETeAT et Fr gour B av & §é ofr?

Options:

| % 1947
- » 1948
5 % 1949

4 % 1950

Question Number : 88 Question Id : 260269388 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Also called Cape Comorin, what is the Southernmost tip of Peninsular India?
Options:
1 % Venadu

> % Nagarkovil
5 » DeviKanya

4  Kanyakumari

Question Number : 88 Question Id : 260269388 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WA ST & ST 8R F Ao By # F7 sl F aremar Far wEr A 82

Options:

IS

1 o
> ® @9 CAIEE
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FATFATLY

4. =

Question Number : 89 Question Id : 260269389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are the three parts within the 10 page Annual Financial Statement presented in the Indian Parliament?
Options:

, # Social expense, communal expense and private expense

- » Consolidated finance. contingency finance and public expense

-  Consolidated fund. contingency fund and public account

4 % Credits. debits and balance statement

Question Number : 89 Question Id : 260269389 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R §HG H FEd R S arer 10 IS& & AT facdrd [@aor A FiF & I &1 g 27

Options:

i WATS =0d, WHETaw =ad AR fash =g

, « HET e, yeeas faeg 3R seefas @y
. v TET @, 3Eas w8 AR aEeEs g

4w S#T, fAsrEr A v e

Question Number : 90 Question Id : 260269390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which state of the Indian Union has a separate constitution?
Options:
1+ Jammu and Kashmir

- % Sikkim

= ® Goa
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4 w Puducherry

Question Number : 90 Question Id : 260269390 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT §Y F 58 U=T 1 TF 3T gieud 22

Options:

o T R FER

1.
zlwﬁaﬁm

3_&-‘3?‘131'

4 % ;.E" L

Question Number : 91 Question Id : 260269391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the unit of measurement of nuclear size?
Options:
| ® Angstrom

> « Fermi
=z #% Newton

4 % Tesla

Question Number : 91 Question Id : 260269391 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

STAT] HTHR N AT HT SHE T 87

Options:

{ EEE;T“
o o Q'Wﬂ'

. oddd
T W o

4_$@m
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Question Number : 92 Question Id : 260269392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who was the winner of the US Open Tennis Women Single title for 20177
Options:
, % Maria Sharapova

> % Serena Williams
- % Madison Keys

4  Sloane Stephens

Question Number : 92 Question Id : 260269392 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 2017 & qUH 9= e Afgen v Bae & Boar #ia o

Options:

| % FTRTT MRTATET
> B mﬁﬁm
z ® ﬁ%’ﬂﬂ'ﬁ?

Question Number : 93 Question Id : 260269393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the name of the oldest existing football club in India?

Options:

, « Mohun Bagan A.C.

5 % Dempo S.C.

5 % Salgaocar F.C.

4 % Shillong Lajong F.C.

Question Number : 93 Question Id : 260269393 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT & TIH [T Fealel Fold H ATH F4T 87

Options:
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| HAEA ST T

5 % Heldae TH.ET.

4 % TRreeT =eT vELEn

Question Number : 94 Question Id : 260269394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the Author of the book titled “India Unbound’, which traces India’s post-independence economic journey?
Options:
, % Raghuram Rajan

> « Gurcharan Das
= % P Chidambaram

4 % UrjitPatel

Question Number : 94 Question Id : 260269394 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

33T IS AAE TEG®, S WRA H TAAAT & AIG BT AMAE AT P ATHNT T FEA ¢, P
A Fa 2

Options:

| ® *{%{IH e
d )

5 ;l‘{ﬂ-{ I Gl

5« O RESR#H

Question Number : 95 Question Id : 260269395 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Dr. Kiran Mazumdar Shaw is the Chairman & Managing Director of which famous brand?

Options:
. % TAFE
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> % Microsoft India
z % Mindtree India

4 « Biocon Ltd.

Question Number : 95 Question Id : 260269395 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5T, 0T AeR o @iF @ 9fie 15 #7 ewEt AN geua e €7

Options:

| % T
o W mﬁm
5« FTESE SiEAT

4, v SO BfEes

Question Number : 96 Question Id : 260269396 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

IfC=3, CAR =22, MADE = 23, then what is the value of CLOUD?

Options:
1 *® 45

o W 50

3\;_?55

Question Number : 96 Question Id : 260269396 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gfe C = 3, CAR = 22, MADE = 23, af CLOUD & #Al T gem?

Options:

1 ® 45

o B 50‘
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3¢ 99

4 R 56

Question Number : 97 Question Id : 260269397 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the analogy.
b:2hri2

Options:

1« 9:216

i W o ¥
= #% 6:216

4 ® 7:49

Question Number : 97 Question Id : 260269397 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T[T F O F

Options:

L v 9:216
. % 5:125
2 % 6:216
L% 749

Question Number : 98 Question Id : 260269398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the word having similar meaning as that of the words on the right and left side of the brackets:

INCLINE (----) NOT FAT

Options:
; « LEAN

> % CURL

5 % BAND

CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3



CAT 2 Steno Typist Hindi CBT 9th Nov 2017 Shift 3

4 % BENT

Question Number : 98 Question Id : 260269398 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3H e FT IO L [oTHEHT FY §hC F g AR 0 BT 71T oregr & 3T & FAA &
INCLINE (----) NOT FAT

Options:

« LEAN

» ® CURL
- » BAND

, = BENT

Question Number : 99 Question Id : 260269399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters which, when prefixed with any of the set of letters in the image, makes an English word.

=

L
Options:
1 B ON

3.« NE

4_$ND

Question Number : 99 Question Id : 260269399 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 MW-IIA FH TAS HY (H0H FTEN F T H TS B W A AT T G8F HaT-HHE TF 3R
g, FATT

LA
CRA.

(=)
o
LI/

Options:
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4 R ND

Question Number : 100 Question Id : 260269400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the missing number in the series.

3.4, 12, 45, . 1005
Options:

;. ® 195

5> « 196

2 % 250

E 00

Question Number : 100 Question Id : 260269400 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT H HITEUT TEAT F =TI H{|
3, 4, 12, 45, ., 1005

Options:

% 195

> v 196

5 % 250

4 #® 90‘
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